107 0N B F 3 = el sV T

MR S TRE S B IR Bl AR
FIE ¢ EReE

— ~ JIEPRZERE 0 K
(—) &AL - (10 73)
(=) EBEy, - (15 57)

i 10Q 24 Q) 300
> M VA -/ \W\—
250

60 Q 20Q
L
SR
1. Jeif IR B En
;100 24Q ;300
MWAV—T WV
25Q v
15V 2003 v, 3500
150




i 15
10+{(25+15)//[24+(20//80)]}

— 40 X

T (25+15)+[24+(20//80)] 4

V, :( 20 xiljx50=§V
20+80 2

o WEURZERS 0 K a K b Wil Z BidESE (Thevenin) SERIEERESE
(—) B - (15 57)
(=) &fH - (10 73)

_14
2

L

1310 Q
WA a
ﬁ'
° 80i, |+
D Fwn O iz
500 pA 4x10”v, -

o ¢ b
SHE T
1. a, b Wilmes EEERERR V AR A H IR bt B 1

\

100Q 1310Q ;, ]

<
<

+
0.05V 4x10‘5v2<f> 801},<¢> v:%smo“n CDV

_ -5
=V g0, =Y g0 IOV g q05y s L
5%10 5x10 100+1310 1410

=V =-159+561801,..V,, =—159,R,, = 56180

1

=~ MERZERE 0 K
(—) 1, - (10 73)
(=) 1, (10 73)
(=) vy 2 (5 73)
h 20 1:5 140 3:4 &

=+ M . —»

24200V 21 E v 0o 3E S0




SH AT

\

1. KRR E TR T AR
50Q 7, 140 I,
AN h'A'AY P
+
12020 () Vo 6OQ§ 3909

_12040°
7 50+14+(60//90)

=12/0"A

v, =12020"—1.220" x50 =600V

, = 60 1,=04820" A
60+90
L =§,I—2 =—§,.-. I, =-6/0"A,1,=-0.36£0 A
I, 11, 4

VU S R 0 BRI RS © Z, =2kQ 0 Z, 24000 » KRS :
6002  0.04
[1]=

30 2ms
Xi(—) z, - (10 73)
(:‘) Zout ° (15 %>
Z
W— -
@ N o m | 24
- R
Z!n Zm.l.r
SEENT:
\% 600 0.04 || 1
1. hZ el = :
ewry -5 ]
I 600£2
+

416

307, §5009 v 34000




1000

V=1 x 600+0.04[—3OI X (500//400)] = x1,
V1000,
m Il 3
2' zE‘Zout’ /%\Vv :OV
I 600 iy
2x10°Q +
0041,y 305D 35002 v O,

/- v +30( —0.04V, ): 1 v,
500 2000+600 ) 650
" Z :%:6509

** “out
2


http://www.tcpdf.org

